=

nkEs e
115 Ol &F & B & (DCT) €112l

1998. 1. 15

L
=4
=
(2
Z
L
1o
s
[z
0l
T
(2
J

oA 0



=
(-

- (DCT)

=
L

A
. Ol &I S B

« MN|@tet & 12|

g
1

PH HAMOUEW dMSHe HHH

&P



A &=

| & OFl= AlﬁE—IIO.”A_I %O! EI—I

— KLT
« DCT
—IX OI2E AMS2 (p=095)0 CHoH KLTOl &2
— & B HES AN EE EAesSL=2 AE
—- =225 0/ 28R



0| & O & 18t (DCT)

N-1
x(k) = \/% > e(n) X (n)cos” (22‘; Dn.
n=0

k=0,1,...,N—1.
N-1
X(l’l) = ie(n)z X(k) COS T (2k " l)n 5
N k=0
n=0,1,..., N —1.
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n (2k +1)2n

N/2-1
X(2n) = i [x(k) + x(N —1—k)]cos

k=0
T (2k+1)(2n+1)

N/2-1

X(2n+1) = S kK)—x(N —-1-k)]|cos
@n+D= 2 Lx()—x(V ~1-b)] -
n=0,1,...,N/2—-1.
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X(2n+1) =

1
2cos” 2k+1)(2n+1)
2N

N/4-1
{ t [y(2m—1)+ y(2m)]cos (2]{;\; =
m=0

2k +1)(2m+1)

N/4-1
+ i [y(2m)+ y(2m +1)]cos
m=0 :

(k) = (k) = x(N =1-)
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< ><;C4 - X(3) > X(6) — X(12)

s Xx(3) —  X(6)

- G, X(1) H X(2)
s v ><_ S, X(7) - X(14)
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CH ) O AF

A(2)=2, A(4)=9, A(8)=28, A(16)="78,
A(N)zN-log2N+§N—(log2N)2—310g2N+2, N >32
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